WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$1500.00	\$1500.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$1000.00	\$3000.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$1000.00	\$3000.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	\$225.00	\$34,515.00
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	\$215.00	\$78051.45

TOTAL BID FOR PROJECT: \$120,066.45

CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822763		
Contractor's License Number\mathcal{N}/A		
Authorized Agent Maria Rogerson	Title Manager	CORPORATE SEAL
Signature Waya Rogersm	Date 9-17-34	
Witness Christi Edwards	_ _{Title_} Administration_	
Charles Floresta	Data 9-17-24	

Point of Execution	Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, on)	and Contract
Name_	Maria Rogerson	
Email_	plclcontractingllc@gmail.com	
Phone	252-341-7953	
	A MAN TO THE RESERVE OF THE STATE OF THE STA	Manual Name (catalog)
TI	HIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTITION	RTMENT OF
This bid	has been reviewed in accordance with Article 103-1 of the Standard Specifications for Road	ls and Structures 2024.
Reviewe	ed by NCDOT Bulle	Date 9/19/24
Accepted	H by NCDOT Scruther Miles	Date 9/19/24

TOTAL BID FOR PROJECT: 155,436.10

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	10,000.00	10,000.00 -
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1,000.00	3,000.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,000.00	3,000.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	270.00	41,418.00
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	270.00	98,018.10

CONTRACTOR DanGrady Company LLC.		
ADDRESS 1517 little savannah rd Sylva No	C 28779	
Federal Identification Number 85-0824997		
Contractor's License Number 99645	· · · · · · · · · · · · · · · · · · ·	
		CORPORATE
Authorized Agent Noah Saunier	_ _{Title} _Member	SEAL
Signature	Date 9-14-24	
Witness Katherine Harrall	Title_Officer	
Signature / 1	Date 9 - 16 - 24	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bond Execution)	ls, and Contract
Name_Noah Saunier	
Email Noah@dangradyco.com	
Phone 828-506-0112	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEP TRANSPORTATION	
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for R	oads and Structures 2024.
Accepted by NCDOT Swith William Man	Date <u>411912</u> 4 Date 9/19/74

WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	2000.00	2000.00-
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	500.00	1500.00-
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	500.00	1,500.00-
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	314.45	48, 236.63
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	314.45	114,154.18

TOTAL BID FOR PROJECT: 167,391,41	
CONTRACTOR 19US HWHACKERS INC ADDRESS 34N4 MEADORS SPUR RD MON Federal Identification Number 54-1613477	eTA, VA 24121
Contractor's License Number	
Authorized Agent Julio VIERA Title Supervi Soll Signature Date 9-17-24 Witness Links Wight Title Sectary	CORPORATE SEAL
Signature Landa J. Wright Date 9-17-24	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Con Execution)	itract
Name	
Email	
Phone	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMEN' TRANSPORTATION	ΓOF
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Stru	ctures 2024.
Reviewed by NCDOT_15 when the Date of the	1/18/24
Accepted by NCDOT Justin Mitte	7/19/24

WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	CO. cOO/	1000.00 -
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1708.25	5124.75.
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	100.00	300.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	264.60	40497.60
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	264.00	95839.92

TOTAL BID FOR PROJECT:

CONTRACTOR L+S Fled, Inc.
ADDRESS 2847 Rody Hole Rd, Ederby, NC 27932
Federal Identification Number 84-3868132
Contractor's License Number S. Fee
CONTENTE
Authorized Agent Can R. Cayder Title Mensidert 32049
Signature Date 9924
Witness Title Secretary
Signature Date 9924

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insura Execution) Name Slayder for Yahas. Con	nce, Bonds, and Contract
Phone 252-333-0378	
THIS SECTION TO BE COMPLETED BY NORTH CAROL TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specific Reviewed by NCDOT Accepted by NCDOT Accepted by NCDOT	

WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1250.00	\$1250.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	500.00	\$ 1500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	500.00	\$ 1500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	240.00	#36,816.00
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	245.00	\$ 88,942.35

CONTRACTOR FORD ENTRYPISE, INC	
ADDRESS 716 Knoll CiaclE Greenville, N.C. 27858	
Federal Identification Number 85/18/130	
Contractor's License Number	
MEROTERO	
Authorized Agent Story Ornerd-HATitle CEO SESEAL OF	
Signature Eh Date 9-18-24 030 2020 m	
Witness Monick Poly Title Secretary : CAROLINE	
Signature	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name_ Ebony Ormand-Ham
Email_inPolicsoentespsiss.com
Phone 404-509-1990
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.
Reviewed by NCDOT Bul 4/19/24
Accepted by NCDOT Gutter Mith

WBS Number: 3RE.106715, 3RE.206715, 3RE.206725 Long-Arm Mowing along Primary & Secondary Paved Routes in Onslow County

ITEM	DESC	SEC1	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	5000	501,00
2	6132000000-N	SP	CDS OUTFITTING FEE	3	EA	500,00	1,500,00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	500	1,500,00 -
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	153.4	SMI	010.00	32/214,00 r
5	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	363.03	SMI	210,00	7423630-

TOTAL BID FOR PROJECT:	111,950,30	
CONTRACTOR TAY & SERVICES ADDRESS 1809 Neugent Sk & Federal Identification Number 20-12986	ernersville NC 27284	+
Contractor's License Number		
Authorized Lepler Melvin Signature Review Melvin	Date 9-18-14	CORPORATE SEAL
Witness E.C. MEU(M	Title Witness	
Signature 2 2 Mg/h	Date 9-10-04	

Execution
Name FENCE MENIN
Email Lepree Melvin Cgnail. Com
Phone 3310-202-10209
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF
TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT Bulk Play
Accepted by NCDOT Guller Mtull Date 9/19/24.